

-1

$$a_1 + a_2 + a_3 = 11 = a + aq + aq^2$$

$$a_1 \times a_2 \times a_3 = 9^3 = a^3 q^3$$

$$a_1^2 = a_1 a_3 \Rightarrow a_1^2 = 9^3 \Rightarrow a_1 = 9 \Rightarrow a_2 = 3$$

$$\Rightarrow a_1 + a_3 = 14 \Rightarrow q = 3, a = 1$$

-2

$$(2n)^2 = (n^2 - 4)(n^2 + 4)$$

$$4n^2 = n^4 + 4n^2 - 4n^2 - 16 = n^4 - 16$$

$$4n^2 = n^4 + 4n^2 - 16 \Rightarrow n = 4$$

$$a_1 = n^2 - 4 = 12$$

$$a_2 = 2n = 8$$

$$a_3 = n^2 + 4 = 20$$

$$\left. \begin{array}{l} a_1 = 12 \\ a_2 = 8 \\ a_3 = 20 \end{array} \right\} q = \frac{1}{3}$$

$$S_n = a \left(\frac{q^n - 1}{q - 1} \right) = 12 \left(\frac{\left(\frac{1}{3}\right)^n - 1}{\frac{1}{3} - 1} \right)$$

$$= 12 \times \frac{2048}{128} = \frac{2048}{16} = 128$$

-3

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{11} \Rightarrow q + q^2 + q^3 + q^4 = \frac{10}{11}$$

$$\Rightarrow q = \frac{1}{11}$$

$$S_n = a \left(\frac{q^n - 1}{q - 1} \right) = 121 \times \left(\frac{\left(\frac{1}{11}\right)^n - 1}{\frac{1}{11} - 1} \right) = 121 \times \left(\frac{\frac{1}{11^n} - 1}{-\frac{10}{11}} \right)$$

$$= 121 \times \frac{10}{11} = 110$$

-4

$$1, 0, 0, 0, 0, 0, 0, 9$$

$$9d = 9^3 \Rightarrow d = 1010 \Rightarrow A = 3210$$

$$1, 0, 0, 0, 0, 0, 0, 9$$

$$A = 3210$$

$$B^2 = 9^3 \times 1 = 9^3$$

$$B^2 = 9^3 \Rightarrow B = 27$$

$$A + B = 3210 + 27 = 3237$$

$$-rf, -\frac{rd}{r}$$

$$+ \frac{1}{r} = d$$

$$a_n = \frac{1}{r} n - rf, rd$$

$$a_{100} = rd - rf, rd = 0, rd$$

$$+1 = 121$$

$$+100 = \frac{r}{r}$$

$$\frac{a_{99}}{a} = \frac{r}{\frac{121}{1}} = \frac{r}{121} = q^{99} \Rightarrow q = \left(\frac{r}{121}\right)^{\frac{1}{99}}$$

$$(av)^r = a_r \times a_q = (a+rd)^r = (a+rd)(a+rd)$$

$$\Rightarrow a^r + 121da + r^2d^2 = a^r + 2da + 121d^2$$

$$r^2da + r^2d^2 = 0$$

$$\boxed{d \neq 0} \Rightarrow ra = r^2d \Rightarrow ra = r^2d \Rightarrow \boxed{a = \frac{r^2}{r} d}$$

$$\boxed{d = 0}$$

$$av = \frac{r^2}{r}d + rd = \frac{r^2}{r}d$$

$$aq = \frac{r^2}{r}d + 1d = \frac{r^2}{r}d$$

$$ar = \frac{r^2}{r}d + rd = \frac{r^2}{r}d$$

$$\frac{r^2}{r}d, \frac{r^2}{r}d, \frac{r^2}{r}d$$

$$(a+rd)^r = (a+rd)(a+rd) \Rightarrow a^r + 2da + 121d^2 = a^r + 2da + 121d^2$$

$$\Rightarrow ra = r^2d \Rightarrow ra = r^2d \Rightarrow a = d$$

$$\boxed{a_{100} = \frac{1}{r} \times r^9 = \frac{1}{r} \times 121 = 121}$$

$$\left\{ \begin{array}{l} ar = ra = rd \\ aq = ra = rd \\ ar = ra = rd \end{array} \right\} q = r$$

$$\frac{ra + aq}{r} = raqr \Rightarrow raq + aqr = raqr \Rightarrow r + q^2r = r^2q$$

$$\Rightarrow q^2 - r^2q + r = 0 \Rightarrow (q-r)(q-1) = 0 \Rightarrow q = r \text{ or } q = 1$$

-9

$$r + \frac{v}{f} \Rightarrow d = -\frac{1}{f} \text{ and } n = -\frac{1}{f} n + r, r_0$$

$$r_f = 1, r_0 = \frac{d}{f} \text{ and } a_1 = \frac{1}{f} \text{ and } a_{1r} = -1$$

$$\left(\frac{d}{f} + n\right) \left(\frac{1}{f} + n\right) (-1 + n) \Rightarrow \left(\frac{d}{f} + n\right) (-1 + n) = \left(\frac{1}{f} + n\right)^2$$

$$\Rightarrow -\frac{d}{f} + \cancel{\frac{1}{f}n} + \cancel{n^2} = \frac{1}{f^2} + \cancel{\frac{2}{f}n} + \cancel{n^2} \Rightarrow \frac{1}{f} n = -\frac{r_1}{f} \Rightarrow n = -\frac{r_1}{f}$$

$$a_f + n = -\frac{1}{f} \text{ and } a_1 = -\frac{r_0}{f} \text{ and } a_{1r} = -\frac{r_0}{f}$$

$$\frac{-\frac{r_0}{f}}{-\frac{1}{f}} = \frac{\frac{d}{f}}{\frac{1}{f}} \Rightarrow \boxed{\frac{d}{f} = 1}$$

-10

$$a_1 + a_f + a_v = v_r = a_1 + a_f + a_v = r + 1 + d$$

$$\frac{a_f}{a_1} = \frac{a_v}{a_f} = a_r = \frac{r+d}{r} = \frac{r+d}{r+d}$$

$$\Rightarrow \cancel{r} + \cancel{d} + \cancel{r} = \cancel{r} + \cancel{r} + \cancel{d} + \cancel{d} \Rightarrow v + d = d \Rightarrow v = d$$

$$t = \frac{1}{v} d \Rightarrow r + 1 + d = v_r \Rightarrow \frac{v_r}{v} d = v_r \Rightarrow \boxed{d = v}$$